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1.  !"#��$#� Z1 = 3 + 4i  �*� Z2 = a + bi  -�" Z1Z2 = .1 + 7i      01#"�� ��	�2�!"�#�31�	1 Z2 $����� 
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2.  !"#��$#� Z1, Z2 ����0!"����951:�	�$�; -�" Z2 = 2 + i �*� Z1Z2 = 2 + 11i  01#" Z1 (3  �����)
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2) -�"��"�@*�� $���	 1) ����@*�� 	����20��!"A��#�B	A�3 -�"�!"A���*��@*�� ��1 *3"��
�3"��3"$� 
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4.  !"#��$#� Z = a + bi  ����0!"����951:�	�$�; C���
� |Z|  =  |1 . i|,  a . b = 0 �*���1�E��	1 Z 	�F3$� 
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�� ��0!"����951:�	� 1 . i 01#"�3"�*��!"�#�31�	10!"����951:�	� 4Z4 . Z6 + Z8 $����� 
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5.  !"#��$#� Z1 = 4 + 3i  �*� Z2 = . 3 . 4i  01#"�3"�	1 Z1
Z2
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6. 0!"����951:�	� Z = 1 . 3
2 i 01#"�3"�	1 Z5 �*��!"�#�31�	1 Z5 $�����45 ��
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� � � � � �



�����
 2 
������������� !���
1. 01���1�3" in + in + 1 + in + 2 + in + 3 = 0 ��B�	 n ����0!"�����H��� $�; (5  �����)
2.  !"#��$#� Z1 = a + bi, Z2 = c + di  ����0!"����951:�	�$�; �*� a, b, c, d  ����0!"���0�51 0145�F0�2 
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1) Z1⋅Z2 = (ac . bd) + (bc + ad)i (5  �����)

2) Z1
Z2

= (ac bd) (bc ad)i
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3. 01���1#�B	� ���	�3"1��"��3" |Z1 + Z2| ≤ |Z1| + |Z2| ��B�	 Z1 �*� Z2 ����0!"����951:�	�$�; (5 �����)
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